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Candidates are required to give their answers in their own words as far as practicable
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The figures in the margin indicate full marks

Group - A
(Indian Economy — I)

Answer Question No. 1 and any two questions from the rest

1. Answer any five questions: 2%5
(a) What is 'disguised unemployment'?
(b) What is a 'dual economy"?
(c) What is poverty line?
(d)  State two reasons for under-development of Indian economy.
(e) Define population density.
(f)  What is urbanization?
(zg) What is Jawahar Rozgar Yojna (JRY)?
(h) What is parallel economy?

9 What are the causes of poverty in India? Discuss the poverty eradication

measures adopted by the Government of India. 10+10
3. What are the causes of increasing income inequality of income

distribution in India? Discuss briefly the steps taken by the Government of India to

reduce inflation. 10+10
4. What are the features and causes of underdevelopment of the Indian

economy? 10+10
5. Discuss the success and failure of five year plans in India. 10+10

™~



Group-B
(Indian Economy - II)

Answer Question No. 6 and any two questions from the rest

6. Answer any five questions: 2x5
(a)  Mention two problems of rural credit.
(b)  Mention two causes of low productivity of Indian agriculture.
(c) What is 'operation barga'?
(d) Define cottage industry.
(e) Name two principal import items of India.
(f)  What is globalization?
(g) Mention two defects of Indian money market.
(h)  What is deficit financing?

7. What do you mean by new agricultural strategy and 'green revolution'?
Discuss its effects on Indian economy. 10+10

8. Discuss the importance and problems of cottage and small-scale industry
in India. 12+8

9. What is industrial dispute? What are the causes of industrial dispute in
India? Discuss the measures adopted by the government to settle these disputes.  2+8+10

10. What were the main objectives of nationalization of commercial banks
in India? Evaluate the credit control policy of RBL 10+10
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